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L. F2ZE 711 8 FA M EBRONERELE r=log() NBERE @ BELEHE
0.01<t <67z - fBBRELY 100 B5 o M 1B DHEFBED /A ex8_L.m o
Ans:
% ex8 1.m
t=linspace (0.01,6*pi,100) ;

r=log(t) ;
polar(t,r)

2. BBE2H FAMBENERRBY z=x/ " HIRERSIE BRZEENR 32x32
BEHME 2<x<2 > 2<y<2 - MIERBHERBMD A ex8 2mo
Ans:

% ex8 2.m
x=linspace(-2,2,32);
y=linspace(-2,2,32);
[xx,yy]=meshgrid(x,y) ;
zz=xx./exp (xx."2+yy."2) ;
[u,v]=gradient(zz) ;
quiver (xx,yy,u,v);



8-2

“

Matlab F2TUR5T “ou

ELEL2E FAMEBZRNEREE z=x/c " NSHEEEES  BRSHA 48x48
BEEE 2<x<2 » 2<y<2 cMBRIBBHENMD A x8 3m EEENEERES

FERREN 035 -
Ans:
% ex8 3.m

x=linspace(-2,2,48);
y=linspace(-2,2,48);
[xx,yy]=meshgrid(x,y) ;
zz=xx./exp (xx."2+yy."2) ;
surf (xx,yy,zz) ;

axis tight; hold on
[u,v,w]=surfnorm(xx,yy,zz);
quiver3 (xx,yy,zz,u,v,w,0.3)
hold off
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4. FX Matlab 898 STRERIE A type primes.m @ WIFZREE T primes (HEH) M B2 - 55
1798 8.2 ENEVME  IEE M BEE LREERD! » H1 3| » HBIERAN FEHERE6Y
FESEIEES D ©
Ans:

>> type primes.m

function p = primes (n) ——— HEEET!
%$PRIMES Generate list of prime numbers.————— H1 %1

PRIMES (N) is a row vector of the prime numbers less than or
equal to N. A prime number is one that has no factors other
than 1 and itself.

Class support for input N:
float: double, single

See also FACTOR, ISPRIME.
%  Copyright 1984-2004 The MathWorks, Inc.
SRevision: 1.16.4.2 $ $Date: 2004/07/05 17:02:09 $

if length(n)~=1

error ('MATLAB:primes:InputNotScalar', 'N must be a scalar');
end
if n < 2, p = zeros(l,0,class(n)); return, end
p = 1:2:n;
g = length(p);
p(l) = 2;
for k = 3:2:sqgrt (n)

if p((k+1)/2)

p(((k*k+1)/2):k:q) = 0;

end
end
= p(p>0);
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5. TR 828 » N func8_2 MHNEZBER L HI JIERNHERPNFE - BRTPIHL - 1M
lookfor 3850 help 38SBIFH 2 o FEAFNENRTER TR ex8_5 ©
Ans:

function [mn,mx]=ex8 5 (v)

ex8 5 return Min and Max elements of vectors
MN Smallest component.

MX Largest component.

For vectors, mn is the smallest element in V.
For vectors, mx is the largest element in V.
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copyright by Dr. Wien Hong, 2005
mn=min (v) ;
mx=max (v) ;

I lookfor $8<F0 help 1558154, :

>> lookfor ex8_ 5
ex8 5 return Min and Max elements of vectors

>> help ex8 5

ex8 5 return Min and Max elements of vectors

MN Smallest component.

MX Largest component.

For vectors, mn is the smallest element in V.
For vectors, mx is the largest element in V.
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Ans:
% ex8 6.m
function total=ex8_ 6(n)
x=[1:n];

y=1./(2.”x);
total=sum(y) ;

% HATEELD

>> ex8_6(10)
ans =
0.9990
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Ans:

% ex8 7.m

function pmax=ex8_ 7 (n)

if (n>2)

pmax=max (primes (n)) ;
end

% HATEHELD

>> ex8_7(14)
ans =
13

AR fprintf NEIENH RIIFE -

(a) Today is a sunny day.
(b) It's mine.

(¢) 35% students are failed.

Ans:

% ex8 8.m

function ex8 8()

fprintf ('Today is a sunny day.\n')
fprintf('It''s mine.\n')

fprintf ('35%% students are failed.\n');

% HATEAEL

>> ex8_8

Today is a sunny day.
It's mine.

35% students are failed.
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9. FUBIN func8 4 {FIFEBITE func8 4 iR Matlab BUIESTREANIUFERLEE r Y

RAERF/IMVE - BB BRERERN ex8 9 °
Ans:
% ex8 9.m
function [mx,mn]=ex8 9 (n)
t=linspace(0.01,10*pi,n);
r=log(t) ;
comet(r.*cos(t),r.*sin(t));
mx=max (r) ;
mn=min (r) ;

% TNEREINEERTIHNIER

3
2

1

>> [x,y]=ex8 9(10000)
x =

3.4473
y =

-4.6052
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10. SIEE—EESHEERNNE ex8_10 8B E0OE » BEIINMIESIZ R fprintf
NEENHIEMESIECA R BLBANNEZBES|IBEN RS S ' RItBstd
BRIA eval NEIBT BERNNE2%E » TILUETHERER) o
Ans:

% ex8 10.m

function ex8 10(x,y)
total=eval (x) +eval (y) ;

fprintf ('%s+%s=%5.2f\n',x,y, total)

% BITE L

>> ex8_10 5.2 8.3
5.2+8.3=13.50

1. SRR S8 ex8_11 WRERENMHBEE x 82y, » AIBBE x -y OR8E - 5
RIEI 4 BRE x, 11, x By, » QB x -y B xp — 3, ONHERRE—KE L - 55

BITREREH0AT -
Ans:

% ex8 1ll.m
function ex8 11 (x1,yl,x2,y2)
if nargin==2
plot(xl,yl)
else
plot(x1l,yl,x2,y2)
end
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% BITEEY
>> ex8 11([1 2 3 4],[3 2 2 1],[4 5 7 8],[0 2 3 2])

3
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12. HAER—@ M EEARR—EENE ex8_12 » B—EFHE inv - TRHJEIN—E
& v WIERE v BT inv ' BFHIEIEDE v AG—EHFEEN (H)
0 3NRER/3) - REBLREEESIPTEMNRE v WBERBUEI - KRBT
FTHHEASTERE w 2TV - WETBLITIFE -
Ans:

% ex8 12.m

function total=ex8 12(v)
w=inv(v) ;

total=sum(w) ;

function w=inv(n)
w=1l./n;

% BTEEED
>> x=ex8_12([1 2 3 4])

x =
2.0833

13. FHNEBE 12/ FEFHE inv 2 REF NI BL BTk ENEBRER ex8_130
Ans:

% ex8 13.m

function total=ex8 13(v)
w=inv(v) ;

total=sum(w) ;

% inv.m
function w=inv(n)
w=1l./n;

%N 4T EREE
>> x=ex8_13([1 2 3 4])

x =
2.0833
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Ans:

>> pcode ex8 12.m
>> x=ex8 12([1 2 3 4])
x =

2.0833
8.5 PRIEBVERIE

15. {BRERBRE 12 BUENE ex8_12 ZIMETE c:\my_works SEEERIIKA » sHILEBERIEN
» "BRITIEB#R. - {P1S1E Matlab NIREE TES » SLIMEERITE °

Ans: FETRE -

16. {RERBRE 12 BUFENE] ex8_12 BNETE c:\my_works iSBEERKA » 5HAFE J0/\ Matlab
BIBRIRED » [FETEEE Matlab VIR B R TIES » MY MEEHITE °

Ans: FETRE -

8.6 BN
17. AEBEDHE /(x) =sinVx’ » WHIF Plot FBEBL - BEHER0~27 -
Ans:

>> f=Q(x) sin(sqrt(x.”3))
f =
@(x) sin(sgrt(x.”3))

>> fplot (£, [0,2*pi])




18. REBEBHB g(xy)=y —x  WHA esut FREDB@EY - 2

3<x<3 5 —3<y<3 o

Ans:

>> g=Q(x,y) y."2-x."2
g =
@(x,y) y."2-x."2

>> ezsurf(g,[-3 3 -3 3])
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